B/ =48/ R4 KX

2% B 3% 3% R AP

0. 25~270HP
S121-S122-121S-122S % 7|




¥ =0

@ ket
LOW NOISE LEVEL
BN ERE) o NF RS (e SRR
OPTIMUM DESIGN TO ELIMINATE AND SUPPRESS THE POSSIBLE ELECTRO-MAGNETIC NOISE

@ LR iy
INTERCHANGEABLITY MOUNTING DIMENSION
B R S T D RAEIE] - BRI ka2 S - VAT ek P ot TR B 1 4
INTERCHANGEABLE WITH STANDARD MOTOR MOUNTING DIMENSION
A
TOTALLY ENCLOSED CONSTRUCTION

WS R BUAEIE o PRAT A R R E S BRI B i
TOTALLY ENCLOSED CONSTRUCTION CAPABLE OF APPLYING SEVERE ENVIRONMENT OPERATION

i ITEM it SPECIFICATION

AR RS S R AT (TEFV)
4 TYPE&FORM THREE PHASE SQUIRREL CAGE TOTALLY ENCLOSED FORCED VENTILATION INDUCTION
: MOTOR >
%7 NO. OF POLE 4P 6P 8P
BUERT (HP) 1/4~150
RATED OUTPUT(HP) Ee s i
7 7 POWER SOURCE 30 380V
i FREQUENCY 50HzZ
EFASIARSE TIME RATING % CONTINUOUS

, $121,1218 #51 : KB (B3/IM1001) © 8122,1228 F5 : irz{ M2 (V1/IM3011)
Z57750 MOUNTING TYPE  |S121,1218 SERIES * HORIZONTAL FOOTED(B3/IM1001) : $122,122SSERIES * VERTICAL FLANGE
MOUNTED(V1/IM3011)

SR VIR 12 B (GRS © 3@50Hz 380V)

FORCED VENTILATION BLOWER MOTOR(POWER SOURCE : 3@ 50Hz 380V)

el 5 COOLING TYPE

: _ | (P54)
i TOTALLY ENCLOSED(IP54)
e F i
BT INSULATION F CLASS

EFBBSE STARTING TORQUE |150% L1 I (6Hz)
MEEE CHARACTERISTIC |50~ 10Hz CF§%E : 10-6Hz Slikisi

OF LOAD TORQUE 50-10Hz CONSTANT TORQUE : 10~6Hz VARIABLE TORQUE
I [k 1000 Z2FUL T
BHRBIAITUDE || po5 1HAN 1000M SEA LEVEL
i AMBIENT _15°C ~40°C
FHEHERE 00% UL F (155 )
mEwmer: - |
, g ( B SRR TESAD B Z IR R )
A ECHEATIS INDOOR (WITHOUT CORROSIVE GAS & DUSTY PARTICAL)
HHERI S STANDARD T e i et (P SO 1 1 -
DIRECTION OF ROTATION _|C.W. (VIEWED FROM DRIVE END)
PG TR & ( FETLAREEE ) ot TS o
COUPLING METHOD DIRECT COUPLING (FLEXIBILE COUPLING) OR BELT COUPLING .
| , MUNSELL 7.5Y 8.9/0.4 _
e AHRIK (WOOD SMOKE GRAY) % A
1. 3R ( WIARIG R ‘
IR 5 THERMAL PROTECTOR ( NC TYPE THERMOSTAD)  [INO : L VES

"|OPTIONAL ACCESSORY 2. [@|fHE T (PG 1024PPR 5V-~28VDC)
FEED-BACKDEVICE ( NO : [ YES: _~OTHER:




EAT*’*;FEMEE S SNt

HORIZONTALNTYPE INVERTER DUTY,;INDUCTION'MOTOR OUTLINE DIMENSION

oxk-/ v AE | AY §|
A
4-OK / AB
HOLES

FIG.4

<1 DIMENSION (mm)

/) OUTPUT(HPY  #6és% |
MOUNIEDSIZE o up @Kk AE  AB BB HF '@AC

FRAME 4P INS. FIG. A Bl LEK

| 2 |
Teom [ 1 [ 12| a4 | 125! 100' '10'80‘169 22 1181156 130 35‘180
o RN PR R ' 4011251 56 110 | 90 190! 227134 176 | 149‘45[20[
| 100L.| 3 : 2 + s 5 |160[140] 63 | 12 | 100 241 2aTr134 200 168 | 43 | 207 |
1nz2m |5 3 2 190140 70 | 12 | 112 274| 28 154|220‘m 80 243
|—1325 | 758 | 5—| ?;—L—L—‘LZIO MOj_S-C? 472—L132_L316 35 [183 260}17‘3 ]]21285
im0 75 | 5 '21o 178 ' 89 12 T132] 31c'§§ 1832601213 112 285
] 160M ]5 710“ | 75 B 4 |2541210] 108 ]45 160 373| 52 230 308 2501120 | 324,
oL | 20 | 15, 10 | |254|254(10814.5160 | 373 | 52 1230 308 [ 294 120 ' 324
"180M |25 30| 20 15;1 | 279 241 2! 145 5 180 A4o{o? 275 | 324 | 286,105 | 398 |
| 180L | 40 125 30! | {979 270 1121 11457180 440 | 60 275|324 324 105 | 398 |
| 200L |50 60 4050125 50I25 j_% 3183051133 wsﬁmﬁsﬁm 305 378 3601135 a42 |
2255 75 60 | 40 | |6 |35Ql2_8ciU{Q‘L8§l225|538 91 1350|416 | 366 | 145 490
2505 | 100 6 | 50 | | 406311 |168 | 24 1260618 | 1 376 486 | 415 175 | 600 |
|250M | 125 | 100 | 60 | F 406 349 168 24 <250 618 91 376 486 449 175600 |
280S | 150 | 125 | 75 | 457 368 1190 | 24 1280 1655 | 91 1400 1560 4401220 | 650 |
_2@@” Tirs |10 | 100 | 1 4571419]190 [ 24 [ 280|656 | 91 |400 (560 490]220‘6501
~ 125 || g |508|40612161,28 | 315 755 PR 495 od5 480 145 7 1760 |
150 508 457 216 ~28 315 755 PF3'1495 '645 530 1451760 |

M~W}\l 0, 0‘3 lbOS %WVI +0,-1
I~#112ZMESI0 + HESTH#] 32S~#180L Feko  HERE# 1 80M~#315LEmb

.
|




Im

I mT—

BAC

[AD

FIG.6
L _ @AC
120 AD
—
I % @E;ﬁ%\
LA
| Bal | KK AE | AN
cl B | 4-OK_/ A
o FIC=.8 ROLES” &
S121 » 121833 4 DIMENSION (mm)
A D O
| 7IM | 304 | 364 | 8 35| —[130[30]22|14] 5 16 1) [6203ZzZ|6203ZZ| 12
8OM 338 | 394 8 | 35| — |146|40 |30 | 19 | 6 21.5 155620422 620422 16
90L | 410 | 443 |10 | 40| — |164| 50 |40 | 24 | 8 | 27 | 20 | 620522 | 620522 | 25
100L | 449 482 |12 |40 — 164 60 50! 28" 8 | 31 | 24 [ 62062z | 62052z | 32
N2M | 462 | 495 |12 40 — 20060 50 28 8 31 | 24 |e2072z| 620622z 43
1325 535 | 568 15 50 | — [213|80 |65 |38 | 10 | 41 33 63082Z 6208ZZ| 67
132M 573 | 606 | 15|50 | — |213]| 80 | 65 | 38 | 10 | 41 | 33 | 63082z | 62082z | 74
160M | 703 763 | 18160 — 275 110/ 90 | 42 12|45 |37 | 63102z | 62082z 113
160l | 747 | 807 |18 60 — 275 110 90 42 12 45 37 | 63102z | 6208z 136 |
180M ' 8115 | 8315 20 | 40 (82.5/340|110| 90 | 48 | 14 51,5 425 631022 62102Z| 170
180L 8495 | 869.5 | 20 [ 60 [82.5]340[110| 90 | 55 | 16 | 69 | 49 | 63122z | 621222 | 212
200L | 9325 ' 967.5 | 20 | 80 | 80 '365(140/110] 60 ' 18 ' 64 | 53 | 63137z | 62122z 290
2255 | 955 | 985 | 20 | 80 120 440 140 110 65 18 69 58 NU215 | 631222 | 388
| 2505 1085 | 1120 30 100 150|459 140|110 75 | 20 [79.5 67.5| NU218 | 631322 | 574
| 250M | 1125 | 1160 | 30 [100[150]459 [ 140 [110| 75 | 20.]79.5|67.5| NU218 | 63132z | 612 -
2805 |1258.5 1288.5| 30 [ 110120490 1170 140 85 ' 22 [ 90 [ 76 ' NU220 | 6315 800
 280M |1309.5 13395 30 110%20‘,490@170 140 8 22 90 76  NU220 = 6315 872 |
3]55 1289 | 1309 35 (140 600 | 170 | 140 ‘-?5‘ 25 [ 100 | 86 | NU320 631§ 1000 |
315M 1340 | 1350 | 35 | 140‘165 600[170[140| 95 | 25 [100! 86 'Nu3s20 | 6318 | 1140 |
. ! 1===A33-70024
@ TOLERANCE OF DIMENSIONS "H”: 71IM~250M +0,-0.5;280S~315M +0,-1 I ==
" @ TOLERANCE OF DIMENSIONS "D": 16,FOR FRAME7IM~]112M:k6,FOR FR,MiEIBZS‘*‘-‘%'SﬂTI : F@M&%,.JISM
@ S121 SERIES:WITH ENCODER:121S SERIES:WITHOUT ENCODER i i = m—
© ALL DATA SUBJECT TO CHANGE WITHOUT NOTICE S e




EAT\ S SERXE TN

VERTICALSTYPE INVERTER DUTY INDUCTION MOTOR OUTLINE DIMENSION

EYE BOLT
/(#100L-#180L)

4

-

200L~318M

$122 » 122833 . =+ DIMENSION (mm)

OMON DP @S T AC|AE AD HB KK LA
4P Lo 8P 8122 "7‘28 .

71M /2 14| — 393 333 13011160 10 {3.5162 102130‘— 22 | 3022
lsom | 1 2! lm'wﬁospsoizcolm 3ssol118f1a6 — | 22 [12] 40| 30]19] 6 215155
oo 2 | 1__]_1/2 443 | 410 11651130|200, 12 |3.5/200[127/164' — [ 22 | 10| 50| 40 24| 8 ' 27 | 20
oL | 8 | 2 |1 |as 44?'215\180250]14.5_41225145164]14&[ 28 |11/60(50|28| 8 |31 24
EEAEREE | 2 495 ' 462 |215180250(14.5 4 '230(154/200(158' 28 | 11]60(50(28| 8 | 31 | 24
1328 | 75 | 5 3 |sae[_ﬂ_@as}zsoaoo{ms‘jzaépaamawa'35 12( 80| ¢5/38/ 10| a1 3|
7]32M 10 | 75 L 573 2651230300145 4 286‘183213 184| 35 (12|80 |65(/38|10| 41 | 33
lteom| 15 | 10 | 7 r:v‘]aoo 2501350[155 5 1327[230/275213 52 [ 14110/ 90[ 42 12 45 | 37
'__1_0% 20 | 15 | 10 |807 | 749 300(250(350,18.5| 5 [327,230,275'213| 52 [ 14[110/ 90| 42| 12| 45 | 37
180M 2530 | 20 | 15 ﬁal_sans'ssoiaoohm 185/ 5 390/285(345260 60 | 15110 90| 48 | 14 51.542.5
180L ' 40 |, 2530 20 869.5849.5/350'300/40018.5' 5 |300/285/345/260, 60 | 151110/ 90| 56| 16! 59 | 49
200L | 50,60 | 40,50 | 25,30 [967.5(932.5,400(350(450 18.5] & 442307,‘365253{ 78 19140110/ 60| 18| 64 | 53
(255 75 | 60 | 40 | 982 ' 952 '500,450'55018.5 5 '485/350|440(324| 91 | 22 140/110 6518 | 69 58
| 250M [100,125 75,100 50,60 |118011145]500450[550(18.5! 5 |560(376 450 350 91*22 140/110| 75 | 20 [79.5]67.5,
280M Ilsowshzswo'l 75100 1470 | 1440 600|550,660' 24 | 5 (620'421'5M(380| 91 |25 170140/ 85| 22| 90 | 76 |
| 315M 200.270[175,215)126.150] 1423 | 1423600 550l660] 24 | 6 l620]as 448(573(380 PF3* 25 1170(140[ 95 | 25 100! 86 |

@ HIIRDR < AEHERETIM- 1 12M £ 6. HEHE 1 3251 8OMEK6; ﬂr;%:ﬁouslﬁmﬁmo
@ EEENI T AN . ,
o blﬁ%%‘ﬂmﬁ‘%%%? /'J 12 23’%T ARES AT ,—-~”"““\_




